
Location: Windermere, UK
Date of completion: 2017
Area: 384 m2

Shop Drawings: 142 pcs @ ARCH D
Contractor: UK TOP

STEAMBOAT MUSEUM
CARMODY GROARKE

Scope of Services:

Shop drawing for:
Curtain wall
Doors
Windows

FCGA

30
77

 F
RA

ME

TOF +3.018

BATTEN
SOFTWOOD

+2.990

FCL+3.000

59
1780

80
0

80
0

30
0

301 TO AXIS GA

27
54

 D
LO

338 TO AXIS FC

30
50

 F
FL

 T
O 

BO
TT

OM
 O

F 
TI
MB

ER

30
00

 F
FL

 T
O 

FI
NI
SH

 C
EI
LN

G

FFL±0.000

32

30
00

 F
FL

 T
O 

BO
TT

OM
 S

OF
TW

OO
D 

BA
TT

EN

60

 BOF 
-0.059

FFL±0.000

+3.050

80
0

30
0

563 TO AXIS F11

5
1047 SASH

5
1022 SASH

5

2235 FRAME

100 2035 FRAME OPENING 100

2200 FF TO FF

2020

2274

872 DLO 872 DLO

60
33

8 
TO

 A
XI
S 

FC
30

1 
TO

 A
XI
S 

GA

573 TO AXIS F10

7575

C1F11F10

30
77

 F
RA

ME

2235 FRAME

80
0

80
0

30
0 

TO
 F

FL

BOF-0.059

 FFL & BOD+0.000

10
50

 C
L 

HA
ND

LE
 F

RO
M 

FF
L

162 477 477 162

5
1022 SASH

5

100 100

317 800 800 317

TOF+3.017

BATTEN
SOFTWOOD+0.650

BATTEN
SOFTWOOD 

+3.000

80
0

31
8

+3.050

5
997 SASH

477477

96
0 

FR
OM

 F
FL

903 GL DIM

27
85

 G
L 

DI
M

903 GL DIM

27
85

 G
L 

DI
M

TOD
+2.937

2035

32

593 TO AXIS F10 583 TO AXIS F11

with 9mm spindle
SS mat handle
JANSEN 555.586

PPC (BRAK 149)
30x65mm
Custom made rosette

GL-B
DE7.01-2

GL-B
DE7.01-1

SUB CONTRACTOR:

PR
O

JE
CT

 IN
FO

RM
AT

IO
N

DR
AW

IN
G

 T
IT

LE

No
IS

SU
E:

DA
TE

ARCHITECT:

GENERAL CONTRACTOR:

CLIENT:

GENERAL NOTES:

CHECKED:

DRAWING No:

DATE:

REVISION:

No
IS

SU
E:

DA
TE

DRAWN: APPROVED:

SCALE: FORMAT:

CO
NT

RA
CT

 N
O

:

STUDIO CAD
+359 2 443 5491, +359 88 812 4378

office@studio-cad.com

SHOP DRAWING BY:

S
A
M
P
L
E

S
T

E
A

M
B

O
A

T
 M

U
S

E
U

M
W

IN
DE

RM
ER

E 
JE

TT
Y,

 R
ay

rig
g 

Rd
, W

in
de

rm
er

e 
LA

23
 1

BN

DE
7.

01
 (D

O
UB

LE
 L

EA
F 

DO
O

R)
LA

RG
E 

SC
AL

E 
VI

EW
 &

 S
EC

TI
O

NS

7401.00 FSS
26-09-2017

ED

YP

PH

S0
1

FI
RS

T 
SU

BM
IS

SI
O

N 
FO

R 
AP

PR
O

VA
L

26
-0

6-
20

17
R0

1
RE

VI
SI

O
N 

1
27

-0
7-

20
17

FS
S

FU
LL

 S
ET

 S
UB

M
IS

SI
O

N
26

-0
9-

20
17

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

---
-

AS NOTED A1

UK
TO

P 
16

88

PROJECT CONTENT

DE7.01
SIZE 2235 mm 3077 mm 1 pc

AREA 6,88 m²

TYPE Double leaf LHM
Outward opening

SYSTEM STEEL JANSEN JANISOL
FINISH Aged hot zoinc spreay (BRAK149)

GLASS DGU 31.6 mm Heat strenghened Toughened laminated
Guardian Extra clear glass  (6.8/16/8.8); UKT -  spec GL B; Architect spec GT#6

HANDLE Inner: Standard "Finger pull"
Outer: Jansen 555.586 SS mat handle with 9mm spindle

GLAZING BEAD Square 402.120

HINGES Jansen Janisol 555.537 galvanized steel, lenght 180mm, Ø 20mm Metalic
polyester powdercoat on hot zinc spray (BRADZK 149) 3 pc

LOCK Jansen 550.191
Mortise lock

CYLINDER SS Eurocylinder 40X40 key in & out

ROSETE Custom made 30x65mm, Metallic polyester powdercoat
on hot zinc spray (BRAK149); Standard cylinder finger pull

THRESHOLD Jansen Janisol 452.990 Door threshold profile black, made of fibreglass
reinforced polymide

FLOOR ACTUATOR N/A
ACTUATOR / DOOR
CLOSER Geze boxer 3-6 door closer

Scale: 1:10
VERTICAL SECTION3

7401.00

Scale: 1:10
HORIZONTAL SECTION1

7401.00

Scale: 1:10
ELEVATION2

7401.00

NORTH

REF: 7100.00

INTERIOR BUILDING 7 INTERIOR BUILDING 6

INTERIOR BUILDING 7

INTERIOR BUILDING 6 2
7401.00

1
7401.00

3
7401.00

1
7401.00

2
7501.01

1
7501.01

1
7501.01

2
7501.01

3
7501.00

2
7501.00

1
7501.00

3
7501.00

2
7501.001

7501.00

REVISION 1 IS BASED ON COMMENTS
RECEIVED ON 2017.06.13 AND
2017.06.15.

88 5 63

9
31
.5
2

5
15

20 40 5 65 20

155DLO DLO

60

with 9mm spindle
SS mat handle

JANSEN 555.586

Colour BRAK 149
Jansen Janisol 402.115

Colour black
Silicon joint

laminated glass (6.8/16/8.8)
DGU 31.6 mm Low iron toughened

Color BRAK 149
Jansen Janisol 630.114

Colour BRAK 149
Standard "Finger pull"

Colour BRAK 149
Jansen Janisol 402.115

Colour black
Silicon joint

550.191 & 555.469
Mortize lock

glass (6/16/6.8)
toughened laminated
DGU 31.6 mm Low iron

Colour BRAK 149
Jansen Janisol 630.416

GA

FC

15
5

31
.5
2

9

593 TO AXIS F10

60

20

75 5 88

168

10

20405100

FRAME DIM

DLO

57.5

Colour BRAK 149
Jansen Janison 630.016

weatherbording, B.O.
T&G timber

Steel 15x15x1.5
L-profile section

ST4.2x19-C-H
DIN ISO 7049

Tapping screw

DIN 7504 ST4.8x22-K
Self drilling screw

mechanically clamped to frame
1.5mm EPDM membrane 500mm

Insulation rigid

DIN 7504 ST4.8x22-K
Self drilling screw

DIN 7504 ST6.3x38-K
Self drilling screw

Plastic thermal isolator

Colour BRAK 149
Jansen Janisol 402.115

Colour black
Silicon joint

Colour BRAK 149
Jansen Janisol 630.114

Colour BRAK 149
Jansen 555.536 & 555.537
Screw on hinge galvanized steel

Silicone sealant B.O.

Plywood B.O.

to mechanically clamp
Steel L-profile 40x25x1.5

T&G timber lining, B.O.

Shim pack

INTERIOR BUILDING 6

INTERIOR BULDING 7

TOF+3.018

SL+3.000

+3.050

+3.000

10
0

5
40

20

82

75
5

88

16
8

FR
AM

E 
DI
M

DL
O

9 31.52
5
15

60

10

338 TO AXIS FC301 TO AXIS GA

57
.5

Colour black
Silicon joint

Color BRAK 149
Jansen Janisol 402.115

Steel L-profile 15x20x1.5

T&G timber weatherbording, B.O.

Membrane 1.4/535 mm

ST4.2x19-C-H
DIN ISO 7049

Tapping screw

Insulation soft 20 mm

DIN 7504 ST4.8x22-K
Self drilling screw

Silicone sealant B.O.

Colour BRAK 149
Jansen Janisol 630.016

Colour BRAK 149
Jansen Janisol 630.114

laminated glass (6.8/16/8.8)
DGU 31.6mm Low iron toughened

DIN 7504 ST4.8x22-K
Self drilling screw

Silicone sealant B.O.

DIN 7504 ST6.3x38-K
Self drilling screw

boarding and plywood B.O.)
(behing solid timber
plate door support

60x8 Galvanized steel

DIN 7504 ST4.8x22-K
Self drilling screw

Solid timber boarding B.O.

Shim pack 9mm

Plywood B.O.

Membrane 1.4/535 mm

Membrane 1.4/200 mm

DIN 7504 ST6.3x38-K
Self drilling screw

Steel L-profile 15x25x1.5

DIN 7504 ST4.8x22-K
Self drilling screw

8
88

12
11

70

10

23±0.000 +0.000

60
37

97

50
3

6

BOF-0.059

40
20

50

15
5

FR
AM

E 
DI
M

DL
O

3
16
9

9
50

Insulation hard B.O.

HILTI HUS 6x80
Anchor

Sheet metal  Steel 2 mm

mechanically clamped to frame
1.5mm EPDM membrane

Insulation soft

EJOT JT2-6-6.3x32
Self drilling screw

welded to door frame
Steel plate 100x60x6mm

Timber decking, B.O.

Color black
Silicon joint

Color BRAK 149
Jansen Janisol 402.115

Colour black
Silicon joint

Colour BRAK 149
Jansen Janisol 630.114

DIN 7504 ST4.8x45-O-Z
Self drilling screw

Color black
Silicon joint

DIN7504P ST4.2x19-O-Z

EPDM membrane

steel frame
Jansen Janisol 600.005

Insulation soft B.O.

DIN EN 10219-2 80x60x4 R8
Steel tube

Steel 75x75x6
L-profile section

HILTI HUS-H 8x110
Anchor

HILTI HUS-H 8x150
Anchor

Insulation soft

boarding and plywood B.O.)
(behing solid timber

to mechanically clamp
Steel L-profile 40x25x2

DIN 7504 ST4.8x22-K
Self drilling screw

INTERIOR BUILDING 7 INTERIOR BUILDING 6

FFL±0.000

BOW+0.043

FFL±0.000

28
60

43
60

5

929.5210

220

274191 TO AXIS B1

15

49

451 TO AXIS B1

465 TO AXIS B1

DL
O

FR
AM

E 
DI
M

38
5

Colour BRAK 149
powder coat on hot zink spray
Cover plate 60x5 Metallic poliester

DIN 7504 ST4.8x55*-O-Z
Self drilling screw

Colour black
Inner gasket, vertical
JansenVISS 455.546

Colour black
Inner gasket, horizontal
JansenVISS 455.559

laminated glass (6.8/16/6.8)
heat strengthend toughened
DGU 29.6mm Low iron

adjacent cladding design
trim to mach and align
40mm Copper

Color black
Silicon joint

Fischer FAZ  10/100
Anchor

WELD

1.5mm EPDM Membrane

Insulation hard B.O.

100x50x4 R7.2
DIN EN 10219-2

Steel tube

Steel Jansen VISS 76.141

DIN7981 ST4.8x13

SCHÜCO Feder

Colour BRAK 149
Sheet metal Steel 2 mm

Color black
Silicon joint

Membrane, B.O.

Sheet metal Steel 8 mm

Concrete B.O.

Sheet metal  Steel 2 mm

BOF&TOW+5.620

+5.608

220 49 5

929.5210

60

48
12

60
DL

O

FR
AM

E 
DI
M

191 TO AXIS B1

465 TO AXIS B1

1054220

clear glass (6.8/16/6.8)
toughened laminated extra
DGU 29.6mm heat strengthend

trim to mach and align
Inner gasket, vertical
JansenVISS 455.546

Colour black
Inner gasket, horizontal
JansenVISS 455.559

Colour BRAK 149
coat on hot zink spray
Metallic poliester powder
Cover plate 60x5

Window frame

Steel Bracket 6mm

M10x42
Slotted hole coarse

EJOT JT2-12-6.3x50
Self drilling screw

DIN 931-1 M10x95
Hexagon bolt

Seal 12 mm

DIN 7504 ST4.2x38-M-Z
Self drilling screw

to mechanically clamp
2mm Galvanized steel sheet

mechanically clamped to wall
1.5mm EPDM membrane

Steel Jansen VISS 76.141

PVC Spacer

Colour BRAK 149
Sheet metal  Steel 1.2 mm

Insulation rigid

brown copper sheet B.O.
0.7mm profiled aurubis nordic

EJOT JT2-12-6.3x35
Self drilling screw

EXISTING BEAM

Sheet metal Steel 6 mm

Membrane 1.5/193 mm

EXTERIOR INTERIOR

9
29

.5
2

10

5
49

22
0

27
4

46
5 

TO
 A

XI
S 

B1

DLO6010

FRAME DIM

10

2740 TO AXIS BC

Colour BRAK 149
powder coat on hot zink spray
Cover plate 60x5 Metallic poliester

toughened laminated glass (6.8/16/6.8)
DGU 29.6mm Low iron heat strengthend

Insulation rigid

Silicon joint B.O.

mechanically clamped to frame
1.5mm EPDM membrane

to mechanically clamp
2mm Galvanized steel sheet

DIN 7504 ST4.2x38-M-Z
Self drilling screw

Colour black
Inner gasket, vertical
JansenVISS 455.546

Colour black
Inner gasket, vertical
JansenVISS 455.538

of timber rail B.O.
Breather membrane to face

brown copper sheet B.O.
0.7mm profoled aurubis nordic

Colour BRAK 149
Sheet metal  Steel 1.2 mm

VISS 76.141
Steel Jansen

Riller blind, B.O.

Seal 12 mm

with painted finish, B.O.
2 layers 12.5mm Gypsum fiberboars

PVC Spacer

60

873 TO AXIS BC

DLODLO

Colour black
Inner gasket, vertical
JansenVISS 455.538

laminated glass (6.8/16/6.8)
strengthend toughened

DGU 29.6mm Low iron heat

Sheet metal  Steel 8 mm

Fischer FAZ  10/100
Anchor

VISS 76.141
Steel Jansen

Colour black
Inner gasket, vertical
JansenVISS 455.546

Colour BRAK 149
powder coat on hot zink spray

Cover plate 60x5 Metallic poliester

EXTERIOR

INTERIOR

15030

1020

160

65 30 65

20 45203510 6 18 620DLO

OVERALL DIM

20
DL

O

220 TO AXIS CE

80
 T

O 
AX

IS
 C

5
70

10
20

OV
ER

AL
L 

DI
M

(FOR SECURITY)
CONTINUES WELD

DIN 1025 UPE140
UPE-beam

Colour black
Silicon joint

Steel 20x20
Square

(FOR SECURITY)
CONTINUES WELD

Sheet metal Steel 10 mm

Colour black
Silicon joint

Sheet metal Steel 10 mm

DIN 7991 M6
Countersunk screw

DIN 1025 UPE140
UPE-beam

Steel 20x20
Square

anchor rod HAS-R 304 SS M12x240
Hilti HIT-R- 500 - Epoxy Adhesive

Chemical fixing

anchor rod HAS-R 304 SS M12x240
Hilti HIT-R- 500 - Epoxy Adhesive
Chemical fixing

DIN 7991 M6
Countersunk screw

Steel 20x20
Square

Colour black
Silicon joint

anchor rod HAS-R 304 SS M12x240
Hilti HIT-R- 500 - Epoxy Adhesive

Chemical fixing

DL
O

20
103

OV
ER

AL
L 

DI
M

1

OV
ER

AL
L 

DI
M

brown copper sheet B.O.
0.7mm profoled aurubis nordic

Sheet metal Steel 10 mm

DIN 1025 UPE140
UPE-beam

Steel 20x20
Square

(FOR SECURITY)
CONTINUES WELD

Colour black
Silicon joint
Sheet metal  Steel 2 mm
U-profil
DIN 7504 ST4.2x32-O-Z
Self drilling screw

Membrane 1.5 mm

Insulation soft 100 mm

Extra clear glass (8/1.5/8)
Toughened laminated Guardian
17.5 mm Head strengthened

Colour black
Silicon joint

anchor rod HAS-R 304 SS M12x240
Hilti HIT-R- 500 - Epoxy Adhesive

Chemical fixing

Steel 20x20
Square

DIN 7991 M6
Countersunk screw

TIMBER LINING, B.O.

DIN 1025 UPE140
UPE-beam

EXTERIORINTERIOR

EXTERIOR

40
14

0
DL

O

OV
ER

AL
L 

DI
M

20

9
12
2

9

65 30 65

65 30 65

452061862045

±0.000

BOW-0.120

anchor rod HAS-R 304 SS M12x240
Hilti HIT-R- 500 - Epoxy Adhesive
Chemical fixing

Insulation soft

Color BRACK 149
Sheet metal  Steel 2 mm

DIN 931-1 M10x50
Hexagon bolt

DIN 1028 L45x5
Angle

DIN 1025 UPE140
UPE-beam

anchor rod HAS-R 304 SS M12x240
Hilti HIT-R- 500 - Epoxy Adhesive

Chemical fixing

DIN 931-1 M10x50
Hexagon bolt

DIN 1028 L45x5
Angle

Sheet metal  Steel 2 mm

DIN 1025 UPE140
UPE-beam

DIN 7991 M6
Countersunk screw

DIN 7991 M6-Z
Countersunk screw

behind
DIN 7991 M6

Countersunk screw

+45.656+45.656

220 TO AXIS160

45 20 6 18 6 20 45

20

16
0

OV
ER

AL
L 

DI
M

DL
O

14
0

12
40

BOF
+3.756

1515

61

TOW
+3.881

(FOR SECURITY)
CONTINUES WELD

Steel 20x20
Square

DIN 1025 UPE140
UPE-beam

DIN 931-1 M10x50
Hexagon bolt

DIN 1028 L45x5
Angle

DIN 931-1 M10x50
Hexagon bolt

Shim pack

Colour black
Silicon joint

Steel 20x20
Square

Colour black
Silicon joint

DIN 7991 M6
Countersunk screw

Steel 20x20
Square

DIN 931-1 M10x50
Hexagon bolt

EASY GLASS CHANGE
REMOWABLE PANEL FOR

DIN 1028 L45x5
Angle

EJOT JT2-12-6.3x35
Self drilling screw

EXISTING BEAMSheet metal  Steel 6 mm
BRACKET 50x225x150 mm

Steel 160x40x6
U-channel

Sheet metal  Steel 6 mm
BRACKET 50x89x150 mm

EJOT JT2-12-6.3x35
Self drilling screw

EJOT JT2-12-6.3x35
Self drilling screw

Sheet metal  Steel 8 mm
L - profile

EXTERIORINTERIOR

4
3503.01

70 22 70

2050225020

DLO DLO

pull handle D-shape
ALL Good ZQ0025908

Colour BRAK 149
Jansen Janisol 402.125

Colour black
Silicon joint

Colour BRAK 149
Jansen Janisol 402.125

Colour BRAK 149
Jansen Janisol 32.388

Colour black
Silicon joint

70 87

157

FRAME DIM

DLO

50

200 TO AXIS EB

Pivot hinge stainless steel
Jansen 550.674

Colour BRAK 149
Jansen Janisol 402.125

Colour black
Silicon joint

Colour BRAK 149
Jansen Janisol 60.153

Plywood B.O.

T&G timber lining, B.O.

Colour BRAK 149
Jansen Janisol 04.568

Plywood B.O.

T&G timber lining, B.O.

DIN 7504 ST4.8x22-K
Self drilling screw

Shim pack

EJOT JT3-18-5.5x55-E16/2
Self drilling screw

EXISTING COLUMN

Steel 60x40x3
L-profile section

Steel 60x50x3
L-profile section

laminated glass (6/0.8/6)
Low iron toughened
DGU 12.8mm

Silicon joint B.O.

INTERIOR BUILDING 5

INTERIOR BUILDING 7

70
8

70

70
8

50

60

14
7

FR
AM

E 
DI
M

DL
O

20

13
8

+3.000 +3.000

TOF+3.010

Colour BRAK 149
Jansen Janisol 32.388

Silicone sealant B.O.

Steel 50x50x3
L-profile section

Shim pack

DIN 7504 ST4.8x22-K
Self drilling screw

Silicone sealant B.O.

Colour BRAK 149
Jansen Janisol 407.100

Colour BRAK 149
Jansen Janisol 402.125

Colour black
Silicon joint

14

70
14

5010
4

FR
AM

E 
DI
M

DL
O

7 30

90

12.76

20

10
4

FFL±0.000

1010

laminated glass (6/0.8/6)
DGU 12.8mm Low iron toughened

Colour BRAK 149
Jansen Janisol 402.125

Colour black
Silicon joint

Colour BRAK 149
Jansen Janisol 05.568

Jansen Janisol 407.100

INTERIOR BUILDING 7INTERIOR BUILDING 6

PAGE 16

ST
UD

IO
 CA

D
PAGE 17

DESIGN PORTFOLIO

http://www.uktop.eu/
https://www.studio-cad.com/portfolio-2/steamboat-museum-windermere-uk/
https://www.carmodygroarke.com/index.html

